Multiplicacion por Celosia (J)

Use la multiplicacion por celosia para hallar cada producto.

4 5 2 5 9 2 6 9

] 7 6

6 1 9

7 3 2
45 167 — 25 x 713 = 92 x 692 = 69 x 612
7 2 7 0 2 4 8 9

6 8 7

3 4 9

6 1 7
72 x 636 = 70 x 841 = 24 x 797 = 89 x 928
20 15 8 4 11

4 5 6

0 5 2

6 9 3
20 x 406 = 15 % 559 = 84 x 623 11 x 589 =
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Multiplicacion por Celosia (J) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

. s | 2 : 5 : 9 | 2
7
010 1 1 4.5 6,/ 4, 2
o, 4, 5
— 0 10 7, s 1
: 6 7 2 5 3 1 8
7L, 4, 0
— 0 T 5 0
VLV EE 8. 67 5 o 8/ 4
—V 7 5 6 4
o 25 x 713 = 92 x 692
A5x167="7,515 77 ¢35 63,664
7 2 7 0 2 4
T 6 5710 7] 4 T2
Al 2 2 576, 0 1 4/ 8
2 10 /) 4 2 0 7 4 13
5.1, 6 8 sl 0 o 8|, 6
AT 6 0 /10 74 T 12
7112 2 8117 0 1L, 4/ 8
9 2 70 2 8
72 x 636 = 70 x 841 = 24 x 797
45,792 58,870 19,128
2 0 15 48 24
010 /] 4 012 5 iy
o, 8|/ 0 o sl s 5
0 /10 /] 012 /] s L
8,0l 0 85| 5 o
10 7 6 014 /o {7
iL"2 0 3,795 —
>0 g 5
84 x 623

20 x 406 = 8,120 15 x 559 = 8,385 52,332

= 11 x589 =6,479
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